“E-AEZATEOHETF IR =12

ZEEERY
REREWEZERY
BF-REFBRCE—TOBREAEED
T 51 B [E] L 5 &
ki
TFIZR =1 1. BB _ZF— /\F+_A+=HEARFRCE—-/VNER
A %

(5 38 ke 32 Wy S 55 12/D/20195%)

8 | RS

NFEIZR =Ry 2. ZB-NE2ZEEEEERFEELRGSTH
(FH 22 5 & e )
(5 38 e 48 i 5L 1 55 1/D/20195%)
(PR R AR B R B8 - S5 B s il & S 5 4l 5T 3m)

NN+ Aoy 3. B AEB_EEEEREBEIT/FEE
(HE#HERL)
(32 38 o 3 W S {4 55 2/D/20195% )

NF=RA Ay 4 ERREAVELHUEFRRFHVELHBT ABEMNE L
&=
(FH B BUE 1 )
(5 38 e 48 i 5L 1 55 3/D/20195%)

NFE=R =T 5. IR EFERTRERERZETERBIREDPOBES
R EREMULELZRERBE R TEIRAREUREXRE
75 58 il 2 JF VA DU R
CEEEGE B, MER 2 E 8 # 8, MHE) % - B HiEE 8 M)
(5 18 B i SC A 55 4, 4a, 4b/D/20195%)

TF=HAtaT 6. FERFABRFRIUREBHEHRBRABRBRTABELRKLLE
(Fh 5 2545 3 B, BBS, JTPfE )
(5 48 R i B SCAF 555, Sa, Sb/D/20195%)

S RS A i3 7. BR BEREEBAFZEREWIEENEESHUEE
GERZRETHR > AEHILENR)
(5 48 3 B SC A 55 6, 6a, 6b, 6¢/D/20195%)



T 51 0 [E]

T = AT 5y

A DU YA gy

AU A fL gy

TERBEES

TR S

FEAH RS

EHEERGWE
— =

E—NLHFH

i

Bk
i

=i
5

10.

11.

12.

13.

HEEH
TAE/NH &

(a) HEREZ 4 TAE/N
(5 3 R 2 Wy SC A 55 1/R/120195%)

(b) 2~ F A Mk 75 TAE /N
(5 3 ke 2 Wy SC A 55 8/R/20195%)

B S

ZEERBRINRE
(3 8 Je B SCIE S 9/1/2019 5%)

BEEREMEHASER EERE TREEERKANEASHT
WEERBREZLEEE RRER
(3 48 B % g SC 55 10/1/2019 5%)

EZERELREKSCE-AF+—-BE+ZR)
(A 38 R 3B B SR 2R 11/1/2019 5%)

H At B IH

S 3 H 3
SENENAF—HFFEOBES




